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S2HHI8) @ - X R ~e|B - TIXHA ~e|
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OIAHH]| 0 0 0 0 0 0
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| FNPY xS

el 20211 12 1Y2E 20218 128 31N
AT 20203 12 1LSE 2020 128 312X
SHAFSHI SOt (69l @ F2)
oHEHe = (2021) | F O (20201)
= O
S2HUIE) @ - IRt Pe=STE - IR ~e|T
(0 %) (100 %) (3%) (97 %)
Al 2,612,182 0 2,612,182 2,475,546 73,935 2,401,611
Ol24H| 131,500 0 131,500 409,451 0 409,451
Y 42,023 0 42,023 1,268,907 29,019 1,239,887
OIAHH| 0 0 0 37,548 2,400 35,148
AP EH| 0 0 0 5,637 5,137 500
HAS2 0 0 0 257 0 257
siAE CEE 0 0 0 701 0 701
& 16,024 0 16,024 23,565 13,586 9,979
AN 0 0 0 0 0 0
=2 ARFEH| 0 0 0 0 0 0
st AZH| 0 0 0 0 0 0
i J|EtSHAL2 EH| 25,999 0 25,999 1,201,199 7,897 1,193,302
=2 =522 H| 305,053 0 305,053 437,798| 44,916 392,882
2 144,278 0 144,278 332,001 0 332,001
AEEHIH] | SARZSAIZH] 70,870 0 70,870 70,200 0 70,200
Axt= 73,408 0 73,408 261,801 0 261,801
2 30,077, 0 30,077 27,389 0 27,389
EIMNE A | ABIZFHOY| 30,077, 0 30,077 27,389 0 27,389
SHAFAIH|E AtH| 0 0 0 0 0 0
2 IHA2H| 0 0 0 0 0 0
JIEl 1,959,251 0 1,959,251 0 0 0
Ardasol(2ol) ® JoH - - =L - -
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AMAT 20208 1€ 1L2H 2020 128 31X
HARSHI &It (9] M)
HESH T (2021) ZMAT(2020)
=9 [= - -
S2HHI8) @ - X R ~e|B - TIXHA ~e|
(0 %) (100 %) (0 %) (100 %)
A 438,000 0 438,000 328,000 0 328,000
jelbalsll 20,849 0 20,849 0 0 0
A 90,430 0 90,430 139,531 0 139,531
OIAHH]| 0 0 0 0 0 0
A2FH| 2,925 0 2,925 750 0 750
HAZ20= 0 0 0 0 0 0
_ g8 0 0 0 0 0 0
oOH/\I.XII-lHI —
E{s]] 0 0 0 0 0 0
I O] 0 0 0 0 0 0
=2 AHARE=KIH| 0 0 0 0 0 0
= HA2H| 0 0 0 0 0 0
Hl J|EFHAI2 Y| 87,505 0 87,505 138,781 0 138,781
HelZ 2| S22 | 83,522 0 83,522 59,233 0 59,233]
A 139,801 0 139,801 129,236 0 129,236
AlEEHIH] SHAFZEEA Al AH| 3,513 0 3,513 27,048 0 27,048
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A 0 0 0 0 0 0
EOFAFE A QIBIZAE MY 0 0 0 0 0 0
SHALAIH| 2 AM| 0 0 0 0 0 0
2 AR 0 0 0 0 0 0
JIEl 103,398| 0 103,398 0 0 0
Agrel(22l) ® o - - EE - -
Al 0 0
=2H| 0 0
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A2 40! 0 0
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J|Et=2] 0 0
 SED|2 TN 0 0
I KRS =S EHol)
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NSO = (20211 xR 01 (20201
= D 220NN O 2A D ZEWENAN
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Sy 2021

[ 22, 827 ]
SHEAHE 2021 18 1242H 2021E 1228 31L)HAI
AMAT 20208 1€ 1L2H 2020 128 31X
SHAFSHI SOt (69l @ F2)
SHE = (2021) AT (2020H)
= O
S2KHI8) @ - XIXHA e |2 - ] ~ED| 2t
(100 %) (0 %) (0 %) (100 %)
H 734,341 734,341 0 799,068 0 799,068
jelbalsll 108,395 108,395 0 100,678| 0 100,678
A 18,452 18,452 0 90,649 0 90,649
olMH| 0 0 0 22,184 0 22,184
AP EH| 0 0 0 1,917 0 1,917
HAS2 0 0 0 0 0 0
_ B8= 0 0 0 607 0 607
oOH/\I.XII-lHI —
E{s]] 0 0 0 0 0 0
I O] 0 0 0 0 0 0
=2 AHARE=KIH| 0 0 0 0 0 0
A HA2H| 0 0 0 0 0 0
Hl J|EFHAI2 Y| 18,452 18,452 0 65,940 0 65,940
HelZ 2| S22 | 123,673 123,673 0 117,090 0 117,090
A 207,889 207,889 0 174,382 0 174,382
A& EHIH] SHAFZEEA Al AH| 207,889 207,889 0 119,646 0 119,646
ex= 0 0 0 54,736 0 54,736
A 0 0 0 122,173 0 122,173
ZHIAFE A QIBIZF Y| 0 0 0 101,733 0 101,733
SHALAIH| 2 AM| 0 0 0 20,441 0 20,441
2 AR 0 0 0 0 0 0
JIEl 275,932 275,932 0 194,095 0 194,095
Argiael(22l) ® S0y - - 3oy - -
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Sx2 =2H| 0 0
AlEH| 0 0
AHlAQD A2 40! 0 0
J|Et=2] 0 0
 SED|2 TN 0 0
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